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Note: you have four choices for each objective type question as A, B, C and D. The choice ./ oL J"f;_,ury
which you think is correct, fill that bubble in front of that question number, on bubbie sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not sclve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 ] /:‘;J!r
(M i L=X ok then g Bl @
v w vV w
(A) u = wk? (B u= vk2 (C) u = wk (D) u = vk
(2) The third proportional of x% and y is: y -r{.:.../lﬁf/fb’ y2 A x? (2)
(A) ? (B) x*y ©) i’_:; (D) i—z
(3) Afraction in which the degree of numerator is less than ) -QJL".’( fﬂ(;—dﬁd/bfdﬁﬁﬁﬁﬁﬁ&/ (3)
the degree of the denominator is called: (A) An equation =5+
(B) An improper fraction /u?b/:f' (C) An identity .-.-j v (D) A proper fraction /.._.).l;
(4) If 4 c Bthen A— B isequalto: o wlbide A-B I ACB S @)
(A) 4 (B) B (C) ¢ (D) B~ 4
5 AU(BNC) is equal to: etz AUBNC) (5)
(A) (4UB)NUC) (BY AN(BNC)
CY(4ANB) UANC) (D) AU(BUC) "
(6) The spread or scatterness of observation in a data is called: & ES UL K u S (6)
(A) Average bei (B) Dispersion /&4 (C) Central teridency w/é.J7 (D) Percentile s
(7) A histogram is a set of adjacent: e SAB ()
(A) Squares KU», (B) Rectangles ku&*” (C) Circles §Us/ (D) Triangles B’Qr""
(8) cosec®® — cot?0 = ——m—— tosec?® — cot?0 = —————— (8)
(=1 (B) 1 (C)0 (D) tan® .
(9) Acomplete circle is divided into: -.;..rg.gf(-‘” ﬁ.?b&i (9)
(A) 90° (B) 180° (€) 2707 (D) 360°
{10) Acircle has only one: b e g (10)
(A) Secant C‘/I’L?@‘ (B) Chord (C) Diameter /3 (D) Centre /’}' '
(11) A4 cmiong chord subtends a central angle of 60° .  fxryiuke il e bleys i 60° .;};'}sﬂl:él:lf &40 [y
The radial segment of this circle is:
(A) 1em (B) 2cm (C) 3em (D) 4cm
(12) The measure of the external angles of a regular octagon is: & JWJJJ’!')J’/&-J?;” 412
n ’JT b4 . "
(A) 7 (B) 5 (C) 7 (D) 5
(13) The number of methods to solve a quadratic equation are: *:;,r_?&_’._, )&L/J’f..—.!:v&»» (13)
(A) 1 (B) 2 (C) 3 (D) 4 i
(14) Product of cube roots of unity is: ﬂ,‘a‘gﬁfbh_«ﬂujgf.élﬁ (14)
(A) 0 (B) 1 -1 (D)3
(15) If o, B arethe e sf¥ 2B 20 Tl i s gxbr=0 oo Boa i (15)
roots of px? + gx + r = 0, then sum of the roots 2o and 2f is:
w 2 ® L ==L 0 L
£ p

p 2p
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MATHEMATICS (SCIENCE GROUP) GROUP-] b -/ (S PG
TIME ALLOWED: 2.10 Hours SUBJECTIVE L 210 =
MAXIMUM MARKS: 60 MIN-10-G)-20 60 = Af
NOTE: Write same question number ..;.(;;M%.{.Jffﬁ?é @1%%22’/3%0'}’&3{4@')? oY,
and its part number on answer book, as given in the question paper.
SECTION-| .

2. Attempt any six parts. 12=2x6 9y SILILY, gl 24y
(i}  Solve the given equation using quadratic formula: éJc,JMHMb&»meL»J »»uf ¢ ()
\!F?;x2+x=4vf§ V332 +x =43
(iiy  Write the given equation in standard form: : o 1 ik 3 _.;Tf;, [;::m;,@»-f.:,uw& (ii}
X = i el
(i) Define Radical Equation. EE e i)
(V) Evaluete ©37 4038 41 03 +0% 11 -gped ()
(v)  Find the product of complex cube roots of unity. fr”‘..,ﬁ K_Jﬂirmd‘y ,-Q.UK Y
(vi) Find the discriminant of 6x2 — 8x + 3 = 0 6x% = 8x + 3 =1 .f._f-}ﬂ"u:fﬁj (vi)
(vii) State theorem of Componendo-divideno, Fk e IEL i
(viii} Find Fourth Proportionai to 8, 7, 6 87,6 -ZnP Bl (vii)
(ix) Findthevalueof P if 2p+5:3p+4=3:4 2p'¥3:3p+4=3:4 ﬁ;_f(}“.:,fu( 2 (X
3. Attempt any six parts. 12=2x6 cf/]..fuj?é Ja,d/ 34
(i)  Resolve into Partial fractions. x—11 x — 11 é u’u;/ds (i)
(x ~4) (x+3) ' (_x-4)(r+
(i) Define Proper fraction and give its example, ' -é;o‘{ Ua’:"mlg;’/ ..ﬂ/’J /...ef; (it)
i) f X=¢ and ¥=2"thenfind XNy S XNY e Y=2T 4 X =0 i
(V) Find a and b if (6=4, b=2)=(2,1) (@=4,6-2)=Q21) fign b da ()
(v) Define Into Function. Sl w
(vi) Ifset A has5 elements, then find the number of -gmﬁu’uusm Migng$ 5 £ Mer fi (Vi)

binary relations in A/ .

(vii) Find geometric mean of observations 2, 4, 8 using basic formula, -.;;f':}:“”.i./ﬂ@;fi:;.uwﬁ;j;gz_;'_i 2,4, 8 =l (vi)

(viii) Define Arithmetic Mean, Sl (i
(ix) Define Range. ..“..—‘f.ﬂ/:fd’;w (ix)

At



H‘w"lp‘ a”, A Pl . - LA B i .

| ‘r). Convert the angle into radians 300°. M7’v' ,0'41"3-0 300" -J/(J#u‘:u'*ﬂ( "-’ ()

. (i) Find 7 when ¢=32cm and 9 = TZ rad. £=52cm 4 @ = % rad .»/?L,{'/?!"' roo (i)
(i) Define Acute Angle. -Q’/-éf/‘U.deLf (iif)
(iv) Define Coliinear Points. -q/_@ﬁﬁiﬁbﬁ (iv)
(v) Define Tangent. _uf/..éj L(J V(v
(vi) Define Sector of a Circle. -q/-_e /?O/b"LL;U (vi)
(vii) Define Circumangle. -J/Jf&;b/v (vil)
(viil) Define Circumference. f..w JL}' (viii)
(ix) The length of each side of a regular octagon is 3 cm. -u),lf:"’}b g1 -<f 3 dUJ c,I" &f (”" (i)

Measure its perimeter.
SECTIONA (.2
24=8x3 I I felnL e §f 2
NOTE: Attempt any three questions but question No.9 is compulsory.
5(A) Solve the equation \/3x + 7= 2x + 3 -J/J’f By +7=2x+3abls (N5

(B) Prove that x3+y3+23—Sxyz=(x+y+z)(.r.+my+m22)(x+c)2y+wz) féaj ()

YT a3 B2 X222 g [l B L ()6

ox=
y+z R x—2y x-2z
4
6.(A)  Using Theorem of Componendo-dividendo find the/value of X 2v ik if x= =
X —2 y x - 2z 3 ez
(B)  Resolve into partial fractions, —— 2Ll x+7 -g’:'d-.’l'{uf;rfjm ()
(x> +1)(x+3) (2 +D(x+3)

B={2,357 4 A={1,3579} « U=AL23,4,56,789, 10} /1 (.7
(ANBY = AUB &k’
7T(A) FU={1234,5678910}, 4={1,3,5729} and B={2,3.5,7}
. then prove (ANBY = AUB
(B)  The marks of six students in mathematics are as foilows. ‘b:/?},,“g ..L,grpfi«,-:,c"lﬁu;)‘.g’lhgufo""p ()

Determine variance.
Student No. 1 2 3 4 5 o)
Marks 60 70 30 90 80 42

; g 1+sin® 1-sind s
8.(A)  Verify the identiy. ey gL el ()8

(B)  Circumscribe a circle about 4 JLJL,(?‘L‘;&_JII u:-J’ TSPV TR -1 411+ 11T R )
an equilateral triangle 4BC with each side of length 4 cm.
g, Prove that a straight line, drawn RS BBl S (ne i) ;:,ffﬁa.)'bf et -9
from the centre of a circle to bisect a chord (which is not a diameter) is perpendicular to the chord.
OR |
Prove that the opposite angles of W dne i J,-ft’ sl wtwd.;i?dsnd/g fi:u’,(fé..ﬁ

any quadrilateral inscribed in a circle are supplementary.
s ananvalrennnn (e il TAMY
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Note: you have four choices for each objective type question as A, B, C and D. The choice _u:),.fJ'/f}_,wr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) Theset{x/ x € wA x<101}is: _g..t‘lﬁgf{xf’rXEWf\XSmI}é: (1)
(A) Subset wx§ (B) Empty set 206 (C) Infinite set 2r$3# (D) Finite set ..,wu'u
(2) If number of elements in da.df:ﬁfbfudl/d_. AxB i 2 KB ipn3 :'):JVL,'K,»FVET A 2ri$ ; (2)
set 4 is3andinset B is2 then number of binary relationin 4 x B is:
A) 23 (B) 28 2 0) 22
(3) Ahistogram is a set of adjacent: Jﬂ"c-~j~'»‘-"‘”;5} )
(A) Rectangles sUs%*”™" (B) Squares ¥U», (C) Circles §us 1 (D) Triangies Kur‘"
(4) The extent of variation between two extreme observations s dwu‘ i Jd/:ﬁuudb (el & i u (4)
of a data set is measured by:
(A) Average L (B) Quartiles -y (C} Range = (D) Percentiles J’:jﬁ{}
(5) 200586‘450 = 5 - il 500580450 (5)
& 7 ® 375 ©) V3 ) 73
(6) Locus of a point in a plane equidistant from a fixed e e u:s{é'iﬁx:i/.;_,&'ibf}.:«:ﬂ@fﬁf.dﬁf (6)
point is called:
(A) Radius 't (B) Circle »7t (€) Circumference ks (D) Diameter &
(7) Aline which has only one point in common with a circlé.is called: -t :’f oo LR L e K L 7
(A) Sine of acircle  sine ¥ /i (B) Cosine of acircle  Cosine e Jis
(C) Tangent of acircle  Tangent K« ‘b (D) Secantof acircle  Secant b« /b
(8) A4 cmilong chord subtends a central angle _En ISl e bl 60° {)‘:f};dh@l:)( 4 (8)
of 60° . The radial segment of this circle is:
(A) lem (B) 2cm (C) 3em (D) 4cm
(9) The measure of the external angle of a regular hexagon is: _‘ajmfﬁ&)g;udwéuk*fg" i (9)
® T ® V4 © 76 © T
(10) Standard form of quadratic equationﬂis: _.:-_,fggi.y.f_auujuu (10)
Abx+c=0,bz0 B)ax’+br+c=0,a#0 (C)ax*=bhx,a=0 (D) ax’=0, ax(}
) K o, B are the s 2B o 200 Fys (roots)gfmﬁpx +gr+r=0sb B a i1
roots of px +¢gx +r =0, then sumofthe roots 2a and 2P is:
—q ~29 -9
{A) - (B) . (C) e (D) 20
(12) The nature of the roots of equation Gl e OSSN ax tbx =0 ebe (12)
ax’ +bx+¢=0 s determined by:
(A) Sum of roots {87y (B) Product of the roots — L6
(C) Synthetic division ("¢ (D) Discriminant <03}
(13) Find X in proportion 4 : x - §:15 . SEe X 4ixu5i05 ot (13)
75 4 3
(A) i (B) 3 (C) P (D) 12
(14) If uov? | then: 5 ouevi o (14)
(A) u =72 (B) u = kv? ©) uv? =k D) uv® =1 3
(15) x4 is: i o Fxl (15)
(x-D(x+2) T T (x-D(x+2)
(A) A proper fraction /2l (B) An improper fraction /J'J/

(CY An identity =Ll ) o DR R e A




SSC PART-I (10th CLASS)
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NOTE: Write same question number ,.g,@;:gﬁg.{g!rfzé E-,u/:‘iaz,al/:’diy&s{wlﬁ o
and its part number on answer book, as given in the question paper.

SECTION-l s«

2. Attempt any six parts. 12=2x8 ixfutb’ﬁb’ g G—J! 2/ J’f
(i)  Define Exponential Equation and give one example. -i;Jt-_um{.&fJJ;L»JVJ (i)
(i) Write the quadratic equation in the standard form. _,3.‘_1. w6 -éf,ff"oﬁ(ﬁdf,lf‘fwb’&wﬁ (it)
x 4 X
(ii) Solve the equation by using quadratic formula. 4x? ~3x-14=0 -;éd’;».&umdm:f;!.-u (ii)
(iv) Find the discriminant of guadratic equation. 2x2 +3x-1=0 ~;—"f‘fﬁl" A3 e (V)
(v) Evaluate. (9+ 4o +40°) (9+4o + 407 ) Zebed (V)
{vi) Without solving, find the sum and the productof & (M.,,&)‘wmf b’u%,,;"fzfd’/mv@;,-»dxw (vi)
the roots of the given quadratic equation. x2 -5 +3=0
tvii) Define Direct Variation. é—ﬂ’/"&-’bf (vii)
(viii) Express 4kg, 2kg 750 gmas ratio a1 b ~J//L1>JJ(LWU/4)1 a:b -./:l("ng 4: 'f 750 r'f" 2 (viii)
and as a fraction in the simplest form.
(i) Find the fourth propertional to 5, 8, 15. 5 8, 15 irﬁf.«tamg (ix)
3. Attempt any six parts. 12=2x6 if j.,tif[.!ili:.df 3/ny'
{iy  Resoclve into Partial Fractions. - ( 71;—(__;—-73 T j;‘ ;f_ 3 _ggl):.iw/ds?: (i)
(i) Whatis an Identity? ?ﬁ.&ng&f Vo)

i) Kx=({L479}ad ¥={24509} & XUY ¥ Y ={2,4,50}4X={1479} (i
then find X UY

(iv) Define an "Onto" function. -éuﬂﬁb(f By’ (iv)

(v) If X =1a,b, c} thenfind number of elements -g.fr}”:l,é;}/wbﬁii XxX # X={abc} A w
in X xX

; & 1% -~ - Z ;

(il fL={abc} and M ={3,4} _ﬁ.;r}Vg;isfdb;;a.L x M M ={34}# L={abc}/ (V)

then find two binary relations of L x M

(vil) Define Class mark. e i
(vif) Find the arithmetic mean. 12, 14, 17, 20, 24, 29, 35, 45 il (i)
(ix) Find the modal size of shoe for the given data: -éﬂ-“n:ba,:lféf.;.u! _c‘-p/fgli;y@/l;. Uiyl (ix)

4,455 6,66 7,7,5 751882865657
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(i) Verify the identity (tan® + cotd )tan0 = sec26 (tand + cotd )tand = sec?0 -LSeatlelll ()
MTN-10-Gy, 30 o

(i) Find '£' whenr =4.9cm and 0 =180° -0 =1802 r =49cm ,.ﬁq/?f‘”cafuf AN (1)

(i) Whether the triangle with sides fe 2l N2l N s o lonsl) 8T 5 Gl ek il
Sem, 7cm, 8cm is acute, obtuse or right angled triangled?

(iv) Define diameter of a circle. IBIBL e hy ()

(v) Define arc of a circle. YA e )

(vi) Define tangent of a circle. _q/«_éf ;JJV&..?U (vi)

(vii) Define cyclic quadrilateral. I Pl kA (il

(vii) If mAB = 3cm and LIRS uns 4 3 AUIS BC o dB unwlu i (i)
mBC = 4cm are the lengths of two chords of an arc then locate the centre of the arc.

(ix) What is meant by Geometry? e §H (%)

SECTION-Il /o2
24=8x3 -gd)U 9 /fdlrygégfatiﬂéaﬂfrufadf oy

NOTE: Attempt any three questions but question No.9 is compulsory.

5(A) Solve 4x=.T3x+14 -3 4x=r+1d -3 -&J (5
(B}  Find the value of % KAWL SE NA Pl 2k 5% — 3w+ ak = 0 el g d (i (L)

if sum of the roots of the equation 2& x*=3x+ 4k = 0 is twice the product of the roots.
] -
6.(A) am?and a=3 o b=k ,,ég»,r}" a«b=4 o2 a=3u acc;? (2.6

when b=4,ﬁnd a,when 5 =8

(B)  Resolve into Partial fractions. e s > -&fﬁ iz (L)
(3x +2)(x + 1) BY#2)(x +1)

AN(BUC) = (4N B)U (4NC) dif;r.'c.qﬁ.:ﬁ/ivr C={1,4,8}s B={2.468 A4={1,23456)] (.7

TA) I A4={1,23456}, B={2468) ad C={14,8}

(B)  Calculate variance for the given data: 10.8, 9.7, 5,12 86 8. 2 -L,ffp““'.:f,/.%irz;..; (<)
8.(A)  Verify identity. S L B el ()8
sinf I+ cosH

(B)  Circumscribe a regular hexagon about a circle of radius 3cm. -/ 'W,_,.rﬁ" o < 3ubke gl (o)

9. Prove that perpendicular from the centre of a circle on RN u;{;},u";«..}'}&.}bféw 9
a chord bisects it.
OR | ..
Prove that any two angles in the same segment L el Ut Llng S E et

of a circle are equal.




